$=1:500

2 S 1% 5 1
R 2 $=1:50
N:TE=S [I=
4+97.749 Al=E2+20 6+17.915 JAI=NO. 1
GH=117. 64 © o aH=120011
FH=117. 653 FH=120. 121
3150 5
Bz ) (517 20) (BrrEm 5 (HEm o @
_500 1540 1610 500 190 2000 2000 713 =3 3 el
=
FH=120. 121 Ig o
FH=117. G5 5 =
wot KE 5T ) [ Bl
i 0 V117.62 A i L =
! © - BEEBEE W30cn 3 H3-BEER W30gn oo 2 e o ol en
¢ ‘ i F AR R
P i b b BB e e b
i ‘ E R R b P NN
LN Vo e w2 S : tD Y A A W =
— — T
i SRR @] 0] e o | eo| x| | en| e el | | en| | en| | | | | | | S| B S
- I | SEE R R R E R SR
v111.22
'S
v117.02 ;il::)‘iﬁ
___ olo|o|ololo e
- RE BAFHETAIY(20) t=5em |RE : BEFHETAIY (20) t=5em KB : BABHETAIY (20) t=5cm b o e e P gg
FEERIE : BEHN-30 t=F#3n |[FEHEE : MERBHRFEN-30 t=10cn 3 ﬂ@ﬂ
[ msm . BeRERC30 t=200n 2
B S TN IS SN N TSN N SN S PN PN PN PN ENEN PPN PR PSPPSR P P P ) B
wl|wl ol ol ol | | || | | el en 9| e0f 00| ol o ol enf el s | ol il ool | el |l o el 0| P 3
S Ea b P P P Eabbe b bbbt PR B e e P R A P PO RS
@ > >
b 2
ERMAZAMAZA 0
TERBALER . E-2
[ £ i aby
VT of BSR
: = SR
S (S o A
. = o
= o Nz "
= 0 b |
S e __ua anaze =
& = =5 e = na = = = " *
= f nge |5 EoRl ) v s B
= s o mgsHHIE T N e EHETO
o/ WER(EAR 15 N e @ A3 26m2
B E650mm 2K : .
EEHET
A=§ 02m2 |2 E - HEHETQ
%, H g A=55. 30m2
2 = Slem
z z . 5
~
BIER : L=270.17m S
TEEE : A=1361.0m2 '
T FE 8% #& (RC-30) : A=1095. 3m2
L FE %8 (M-30) : A=1095. 3m2
=B BEZBHEAS(13) : A=1363.5m2
HEHET S$=1/200
e gy ey ELRES %) % HEZE
HEHETOD HEHETOQ
FE-ES SF 4 FE R E 295
<
e
1177007 13500 ® o8 &
Vg o N
=\ 7000(6100) "+ SHREES 8 I % & TERBAZARBELE
s L@ o
< 5800 (5400) & HEEHHEE BREWHER EHEEE #h % ERETAZAMAZA
=8 ® \% @ [12.56 n2] 3.1+3.45=6. 55
° 4500 @118 mg 6 5540 3=1 965m 70
-3 e ® [11.83 m2 -
s 1250 & 505 ng 425031 276m2 B & % HEFER
133'5307 x 59.02-1.965-1. 275=55. 78m2
300 & [59.02 n)
————1300 e R $=1:500
4250
HE %S 4 ®/ M 1
EMILEBIRERBREF




IZFE%%:IZE $=1:500 i

BEZETRESER  s=N0-SCALE

TR RERET BESET &

‘ ?:]' IL“‘I] 5,000
i s L, =)
‘ b
o /j': 2,000 300
E =
2
15cmif § {5 :L=37. 88m 15emiBE {5 :L=5. 4m 15emiB H {E:L=16.51m

T 0
<

! 5
I@E (0

s
T 0

Ed
i

. g (R B)
E’E”@lﬁwm. 2n

ﬂ%—ﬂ%ﬁ%ﬁ’»(%ﬁ . ) W=30cm - ~ -~ B
: - o 3800 IR (R - &) W=150m SEESET & SEESE P& 2o
. > bi I . = 3 g Y
: it S ’ﬁ;ﬁﬁé?% 7 L=120. Im R
) ) © 55— BEER (R - ) =30 .

L=120.1m

T11.9

B4R

e
H 5
B
135 ¥
5 %m Ee i R o s - T o0
e — — e
g SS=HOND 40 N e L e O, L\ s Bl (R4 - &) W=15cm
s |5 EoesE . : w0040 & yé - 4m
o) . £ " ey i A Fﬁg%?(@
= m.
- w4l . =16cm o s ) .6
; I st i (8 - &) V) s 5
3 L=138. 0m . s gy @
N e . &) W=30c - BEMET ;
g 55— BRERT (ER 5, A=59.02m2 |2 EHETQ
L=138.0m % H g A=59. 30m2
1548 < = _|E o> =
i s I S
& 3

. ; ° @ HEAAIR (KR - B) W=15cm N
== = g &5 i 38 o L=115. 0m
2l sz L2 6m =1 N=1 H5—BEER (R4 - &) W=30en RESR(75 8) T
=5 dn 3 L=115. Om L=21.0m
<
EEmE
=1

EEREY 4 % EZE
EE-ES SH4EE LB E 29 S
% 8 4
% 4% TEANAZERHETS
## % ERTAZRAALA
X E#F mER
=
BEEZETESER
" R =R
mE S 4 o ® 2
REMILHIRERESRR




5+17.750 BIENO. 2
Twees
FH118. 153

4150
100

00 1275 375375 1325 30
T

FH=118.]153

vi18.12

v111.72

V117.52
\ W VP#100
DL=116.00 T 2528837 % ¢
a=1.33
T 4568227 / \_S VU¢ 200
d=1.24

d=2.24
4+97.749 B E2+20
EEI)
FH-117. 653
4150

100
00 1265 375375 1335
T

V117.62

V117.02
T 2528837, /

d=1.35
T A%6E8227L

\_W VP ¢ 100
\_S W 200

= d=2.01
DL=114.00 d=1.26
(4+63.5) 4+77.748 A 2+40
I
P 191
4110
100
00 1285 375375 1275 30
1
FH=11[7{191
V11716 V117.16
T
' V116.76
T 2%28%37 5 ¥ VP4 100
d=1.45
s S \SWez0.
DL=114.00 =153 =1.

(4+51) 4+57.747 (4+63.5) AI&E2+60

2070
100, 1295 30
7

Vv116.76

V116.43

V116.22

\ W VP& 100
T 252837 A
&8
D=1.46 S VU¢ 200
DL=114.00 T 2528837 / %

D=1.88
T 4%6E82270
d=1.81

HErmE R (1/2)

5+77.841 (5+83. 143, 5+96.143) I 1+40
T awness
4170
v119.24 |
| |
v118.77 \ v118.84
o \ W VP 100
T 252837
d&=1.36
T 458197, RUs VU200
DL=116. 00 d=1.23 d=2. 43
(5+56. 143) 5+57.832 HIE1+60
T
3840

DL=116.00

Vv119.08

Vv118. 60

Vv118. 47

T 2528837, 32 W VP¢ 100
d=1.43
T 4558197 g

d=1.26

I i S VU200
! ! d=2.51
N |

' REBLR

5+37.758 (5+56.143) Hl&E1+80
T aenee
P16 650

v118.63 v118. 61

vi18.21

T 2% 28337
s 5% 8o \W VP 100
T 252837, /
DL=116. 00 d=1.24
T 4ZE5ER197L \Us VU200
d=1.24 d=2.42
W v ==
HET ny)iERIES
HE J:a
BERE | TEAZARBAISR R - R ED] £ EER
TR H3E EM
SEEE 30kn/hr iéz FE-E&5 ML EE LtE F 295
FXERERS N4 E&&HCBR12 ﬁ 5 8 2
I % % MERBRZARHELS
3 % &7 4% I T 4 R (BRETCBR12) ® & REGAZAIAZA
T i & B # # i E3 B & (em)
£ B | BEBHET7R2Y | BRHE20m REE4L IOKNUL 5 HWER(/2)
TEEE | MERERE N-30 f&1ECBR8OIA £ 10 B &4
TERE | B£Y5v¥vy5> | RC-30 5IECBR30OLLE 20 ZIRIER (m)
sEa 35 SRR, BB | (0.2040.222) /2:0.21 ® R $=1:100
| wmeE | 0.22
aE S 4 ®"Im 3
EMILEBIRERBREF




6+57.915
GH=120. 91
FH=120.919

B £0+60

T
< 2050 375375 2324
T

:
]
|
T

\D = -
\ W VP 100
T 252837,
d=1.35 S VU@ 150
T 458197, d=1.58
d=1.27
DL=117.00
6+37.915 20480
6H=120. 51
FH=120.519
5539
T00
N 2290 375375 2299 P
T T T
‘ FH=120.519] ‘
— 1 = |
‘D T T D‘ s
@ \ W VP 100
%
T izziﬁzsﬂ / \ 'S VU@ 150
T 4558197, d=1.57
DL=117.00 d=1.31
6+17.915 BNO. 1
GH=120. 11
FH=120.121
2315
- \D < - =
\ W VP ¢ 100
T 252834, / gfziﬁsm \'s VU@ 150
DL=117. 00 ) d=1.60
T 4Z5E% 197
d=1.46
5+97.915 1420
5900
T00
00 1318 375375 3332
i
—~ e
L]
v119.19 '
58 \ W VP 100
T 2528837, \
=1 46 S VU 150
T 4%58197, d=1.58
DL=116. 00 d=1.37

HETmE X (2/2)

7+17.915 SAIEENO. 0 _ o
G+H=IZZ 19 naE 88 (IR
FH=122. 190 b A
10. 30
10. 58
10. 63
1.72
6.47
6.47
7
10580 1
16
67
7+3. 67 5. 64
6+97. 92 5. 56
.
As \_1 ‘ = :
B ——
W VP¢ 100
T 252837 ¢
d=1.35
T %58 107, $ VU200
d=1.27 d=1.58
DL=118.00
6+97. 915 SBIE20+20
GH=121.72
FH=121.729
5564

D\ T "
\ W VP 100
T 252837
d=1.35 S VU@ 150
T 4558197 d=1. 61
DL=118.00 d=1.27
6+77.915 AIE0+40
GH=121.31
FH=121.320
5414
T00
2195 375375 2269
T
FH=121.320]
T \D T = = DH
o W VP 100
T 2526837 /E \UAZILE
d=1.35 S VU150
T 4558197 d=1.58
DL=118.00 o1 57

R - R E) £ BZEE

FE-ES SHMAIEE LB 295

B8R %

I % % MEABRCARHETSE

i £ RETRZKETARZA

B & % R (2/2)

e R $=1:100

"mES 4 "R 4
ETAAESIREREERR




